13: Asset Valuation: Equity Investments
1.A: An Introduction to Security Valuation
	
	Question ID: 25084
In the top-down approach to valuation, industry analysis should be conducted before company analysis because:


	
	A.
	the goal of the top-down approach is to identify those companies in non-cyclical industries with the lowest P/E ratios.


	
	B.
	an industry's prospects within the global business environment are a major determinant of how well individual firms in the industry perform.


	
	C.
	most valuation models recommend the use of industry-wide average required returns, rather than individual returns. 


	
	D.
	the goal of the top-down approach is to identify those companies in cyclical industries with the highest P/E ratios.

	
	
	


B

In general, an industry’s prospects within the global business environment determine how well or poorly individual firms in the industry do. Thus, industry analysis should precede company analysis. The goal is to find the best companies in the most promising industries; even the best company in a weak industry is not likely to perform well.
	
	Question ID: 16869

Concerning the top-down, three-step valuation process, academic studies have shown which of the following?


	
	A.
	There is no relationship between aggregate stock prices and various economic series (i.e., employment and income).


	
	B.
	Most changes in a firm's earnings can be attributed to general economic and market factors.


	
	C.
	Changes in an individual stock's rate of return cannot be explained by changes in the rates of return for the aggregate stock market.


	
	D.
	All of these are correct. 

	
	
	


B

There is a relationship between aggregate stock prices and various economic series. Changes in an individual stock's rate of return are best explained by changes in the rates of return for the aggregate stock market.
	
	Question ID: 16902
Which of the following would NOT be a reason for market, industry, and corporate analysis?


	
	A.
	Firms within each industry perform differently.


	
	B.
	Single industries perform consistently over time.


	
	C.
	The market is generally a very important component of security returns.


	
	D.
	Different industries have different exposures to economic risk factors

	
	
	


B

	
	Question ID: 25086
Which of the following is NOT a finding of academic studies that supports the use of the top-down valuation approach?


	
	A.
	General economic and market factors have the largest effect on company earnings.


	
	B.
	Individual stock rates of return are best explained by changes in aggregate market and industry returns.


	
	C.
	Stock prices are strongly influenced by employment, inflation, and production.


	
	D.
	Investors can earn excess risk-adjusted returns by selecting value stocks, such as those with low P/E ratios, regardless of industry prospects or economic conditions.

	
	
	


D

The logic behind the top-down approach is to identify, based on expected global economic conditions, those industries with the best prospects. Then, select the best companies with those industries. While there is empirical evidence that low P/E “value” stocks outperform high P/E “growth” stocks, investing in low P/E stocks regardless of industry prospects or economic conditions is not consistent with the top-down valuation approach.
	
	Question ID: 25085
Deciding how to allocate investment funds, first among countries, and then within countries to various asset classes, is the objective of which step of the top-down valuation approach?


	
	A.
	Sector analysis.


	
	B.
	Analysis of industry influences.


	
	C.
	Company analysis.


	
	D.
	Analysis of general economic influences.

	
	
	


D

The objective of step one, economic analysis, is to allocate your portfolio among countries and asset classes based on your analysis of future economic conditions.
	
	Question ID: 16906

How much is a preferred stock that has a fixed perpetual dividend of $10 worth? Assume a preferred discount rate of 15 percent.


	
	A.
	$150.00.


	
	B.
	$1.50.


	
	C.
	$66.67.


	
	D.
	$8.70. 

	
	
	


C

The valuation of preferred stock is D/kp. Hence, the value of the preferred stock is 10/0.15=$66.67.
	
	Question ID: 16916
The preferred stock of the Delco Investments Company has a par value of $150 and $11.50 dividend rate. A shareholder’s required return on this stock is 14 percent. What is the maximum price he would pay?


	
	A.
	$54.79.


	
	B.
	$54.76.


	
	C.
	$161.00.


	
	D.
	$82.14.

	
	
	


D

Value of preferred = D / kp = $11.50 / .14 = $82.14
	
	Question ID: 16914
Which of the following data is NOT required when valuing preferred securities?


	
	A.
	Growth rate.


	
	B.
	None of the above.


	
	C.
	Dividend.


	
	D.
	Required rate of return.

	
	
	


A

By definition.
	
	Question ID: 25087
A company has 6% preferred stock outstanding with a par value of $100. The required return on the preferred is 8%. What is the value of the preferred stock?


	
	A.
	$92.59.


	
	B.
	$94.34.


	
	C.
	$75.00.


	
	D.
	$100.00.

	
	
	


C

The annual dividend on the preferred is $100(.06) = $6.00. The value of the preferred is $6.00/0.08 = $75.00. 
	
	Question ID: 25088
A company has 8% preferred stock outstanding with a par value of $100. The required return on the preferred is 5%. What is the value of the preferred stock?


	
	A.
	$152.81.


	
	B.
	$160.00.


	
	C.
	$62.50.


	
	D.
	$100.00.

	
	
	


B

The annual dividend on the preferred is $100(.08) = $8.00. The value of the preferred is $8.00/0.05 = $160.00.
	
	Question ID: 25089
Use the following information on Brown Partners, Inc. to compute the current stock price. 
· Dividend just paid = $0.80 
· Expected dividend growth rate = 4% 
· Expected stock price in one year = $60 
· Risk-free rate = 3% 
· Equity risk premium = 12% 
  


	
	A.
	$52.90.


	
	B.
	$54.31.


	
	C.
	$59.06.


	
	D.
	$52.17.

	
	
	


A

The current stock price is equal to (D1 + P1) / (1 + ke). D1 equals $0.80(1.04) = $0.832. The equity discount rate is 3% + 12% = 15%. Therefore the current stock price is ($0.832 + $60)/(1.15) = $52.90 
	
	Question ID: 25170
A stock is expected to pay a dividend of $1.50 at the end of each of the next three years. At the end of three years the stock price is expected to be $25. The equity discount rate is 16%. What is the current stock price?


	
	A.
	$24.92.


	
	B.
	$17.18.


	
	C.
	$19.39.


	
	D.
	$18.90.

	
	
	


C

The value of the stock today is the present value of the dividends and the expected stock price, discounted at the equity discount rate: 
$1.50/1.16 + $1.50/1.162 + $1.50/1.163 + $25.00/1.163 = $19.39 
	
	Question ID: 16925

The company is currently earning $5 per share and this year paid out 40 percent in dividends. The earnings and dividend growth rate for the next 3 years (T1, T2 and T3) will be 20 percent. At the end of the third year the company will start paying out 100 percent of earnings in dividends (D3 = E3). If a 12 percent rate of return is required, what would you pay for this company?


	
	A.
	$72.80.


	
	B.
	$61.84.


	
	C.
	$82.10.


	
	D.
	$32.14. 

	
	
	


B

D1 = (.4)(5)(1.2)1 = 2.40; D2 = 2.88; D3 = E3 = 5(1.2)3 = 8.64 
g after T3 onward will be zero because of the 100% payout ratio. 

Solve for the price P2 = D3/(k - g) = 8.64/(.12 - 0) = $72 At 12% PVD1 = 2.14; PVD2 = 2.30; and PVP2 = 57.40: Sum = 61.84 

	
	Question ID: 16922

Assume that a stock paid a dividend of $1.50 last year. Next year, an investor believes that the dividend will be 20 percent higher and that the stock will be selling for $50 at year-end. Assume a firm's beta of 2.0, a risk-free market of 6 percent, and a market return of 15 percent. Given the above information, what is the value of the stock?


	
	A.
	$41.77. 


	
	B.
	$45.00.


	
	C.
	$51.50.


	
	D.
	$40.32. 

	
	
	


A

The discount rate is equal to 0.06 + 2(0.15 – 0.06) =0.24. The dividends next year are expected to be $1.5 x 1.2 = $1.8. The present value of the future stock price and the future dividend are (50 + 1.8)/1.24 = $41.77.
	
	Question ID: 16927
An investor’s required holding period return for two different stocks (is):


	
	A.
	depends on the industry each firm is in.


	
	B.
	always the same.


	
	C.
	depends on the beta of each stock.


	
	D.
	always different.

	
	
	


C

Two different stocks could have the same or different holding period returns. Likewise, within an industry the holding period returns could be the same or different. The stock's beta is a determining factor that affects the overall return of the stock. If two stocks have different betas they will have different holding period returns.
	
	Question ID: 16934
Which of the following is NOT an assumption of the constant growth dividend discount model (DDM)?


	
	A.
	Dividend payout is constant.


	
	B.
	ROE is constant.


	
	C.
	Price appreciation can fluctuate over time, but dividend growth is constant.


	
	D.
	Required rate of return k is greater than the dividend growth rate g.

	
	
	


C

Dividend growth rate can and does fluctuate.
	
	Question ID: 16935
The constant growth dividend discount model would be most appropriate in valuing the stock of a(n):


	
	A.
	established trucking company.


	
	B.
	start-up software company.


	
	C.
	bio-medical research and development firm.


	
	D.
	firm with substantial pending liability and regulatory issues on the horizon. 

	
	
	


A

One of the assumptions of the infinite period dividend discount model, also called the constant growth dividend discount model, is that the stock pays dividends and they grow at a constant rate. The established trucking company is the only choice that would meet this criteria.
	
	Question ID: 16937
An advantage of the constant growth dividend discount model over more sophisticated valuation measures is:


	
	A.
	required inputs can be estimated.


	
	B.
	all of these choices are correct.


	
	C.
	it has a logical, intuitive footing in finance theory.


	
	D.
	simplicity of computation.

	
	
	


B

	
	Question ID: 16930

What is the value of a stock that paid a $0.25 dividend last year, if dividends are expected to grow at a rate of 6 percent forever? Assume that the risk-free rate is 5 percent, the expected return on the market is 10 percent, and the stock's beta is 0.5. 


	
	A.
	$16.67.


	
	B.
	$17.67.


	
	C.
	$6.63.


	
	D.
	$3.53. 

	
	
	


B

The discount rate is ke = 0.05 + 0.5(0.10-0.05) = 0.075. Use the infinite period dividend discount model to value the stock. The stock value = D1/(ke – g) = (0.25 x 1.06)/(0.075 – 0.06) = $17.67.
	
	Question ID: 16942
A company that can earn rates of return greater than its required return is called a:


	
	A.
	defensive company.


	
	B.
	growth stock.


	
	C.
	cyclical company.


	
	D.
	growth firm.

	
	
	


D

	
	Question ID: 16939
All else remaining equal, if there is an increase in the estimated required rate of return, a stock’s value as estimated by the constant growth dividend discount model (DDM) is:


	
	A.
	no change.


	
	B.
	decrease.


	
	C.
	not enough information given.


	
	D.
	increase.

	
	
	


B

	
	Question ID: 16946
A growth company can invest in projects that generate a return greater than the firm’s.


	
	A.
	cost of debt.


	
	B.
	return on equity.


	
	C.
	cost of equity.


	
	D.
	cost of capital.

	
	
	


D

	
	Question ID: 16943
In a negative growth model:


	
	A.
	dividends are zero.


	
	B.
	rates of return are negative.


	
	C.
	earnings are less than preceding year.


	
	D.
	earnings are negative.

	
	
	


C

	
	Question ID: 25173
According to the earnings multiplier model, all else equal, as the required rate of return on the stock increases, the: 


	
	A.
	P/E ratio will decrease.


	
	B.
	P/E ratio will increase.


	
	C.
	earnings per share will increase.


	
	D.
	earnings per share will decrease.

	
	
	


A

According to the earnings multiplier model, the P/E ratio is equal to P0/E1 = (D1/E1)/(ke - g). As ke increases, P0/E1 will decrease, all else equal.
	
	Question ID: 25171
The earnings multiplier model, derived from the dividend discount model, expresses a stock’s P/E ratio (P0/E1) as the:


	
	A.
	dividend yield plus the expected dividend growth rate.


	
	B.
	expected dividend in one year divided by the difference between the required return on equity and the expected dividend growth rate.


	
	C.
	expected dividend payout ratio divided by the sum of the expected dividend growth rate and the required return on equity.


	
	D.
	expected dividend payout ratio divided by the difference between the required return on equity and the expected dividend growth rate.

	
	
	


D

Starting with the dividend discount model P0 = D1/(ke - g), and dividing both sides by E1 yields:  P0/E1 = (D1/E1)/(ke - g)

Thus, the P/E ratio is determined by:
· The expected dividend payout ratio (D1/E1). 
· The required rate of return on the stock (ke). 
· The expected growth rate of dividends (g). 
  
	
	Question ID: 16956
All else remaining equal, if there is a decrease in a firm’s retention rate, a stock’s value as estimated by the constant growth dividend discount model (DDM) is:


	
	A.
	no change.


	
	B.
	increase.


	
	C.
	not enough information given.


	
	D.
	decrease.

	
	
	


B

	
	Question ID: 16949

Assume that a firm has an expected dividend payout ratio of 20 percent, a required rate of return of 9 percent, and an expected dividend growth of 5 percent. What is the firm's estimated price-to-earnings (P/E) ratio? 


	
	A.
	10.00.


	
	B.
	2.22.


	
	C.
	5.00.


	
	D.
	20.00. 

	
	
	


C

The price-to-earnings (P/E) ratio is equal to (D1/E1)/(k – g) = 0.2/(.09 – 0.05) = 5.00.
	
	Question ID: 25174
According to the earnings multiplier model, all else equal, as the dividend payout ratio on the stock increases, the:


	
	A.
	required return on the stock will decrease.


	
	B.
	required return on the stock will increase.


	
	C.
	P/E ratio will increase.


	
	D.
	P/E ratio will decrease.

	
	
	


C

According to the earnings multiplier model, the P/E ratio is equal to P0/E1 = (D1/E1)/(ke - g). As D1/E1 increases, P0/E1 will increase, all else equal.
	
	Question ID: 16954
All else remaining equal, if there is an increase in a firm’s dividend payout ratio, a stock’s value as estimated by the constant growth dividend discount model (DDM) is:


	
	A.
	not enough information given.


	
	B.
	no change.


	
	C.
	decrease.


	
	D.
	increase.

	
	
	


D

	
	Question ID: 16958
All else remaining equal, an increase in g will cause a stock’s P/E ration to:


	
	A.
	no change.


	
	B.
	decrease.


	
	C.
	cannot be determined from the information given.


	
	D.
	increase.

	
	
	


D

	
	Question ID: 16955
All else remaining equal, if there is an increase in a firm’s return on equity (ROE), a stock’s value as estimated by the constant growth dividend discount model (DDM) is:


	
	A.
	decrease.


	
	B.
	no change.


	
	C.
	not enough information given.


	
	D.
	increase.

	
	
	


D

	
	Question ID: 16959
Baker Computer Company, currently retains 55 percents of its earnings, which this past year totaled $6.00 per share. The company earns a return of equity (ROE) of approximately 20 percent. Assuming a required rate of return is 15 percent, how much would an investor pay the Baker Computer on the basis of the earnings multiplier model?


	
	A.
	Need growth rate to complete calculation.


	
	B.
	$40.00


	
	C.
	$173.90


	
	D.
	$74.93

	
	
	


D

g = (.55)(.2) = 11%
P/E = .45/.15 - .11 = 11.25X
Next year's earnings E1= (6.00)(1.11) = $6.66
(P/E)(E1 = P
(11.25)(6.66) = $74.93
	
	Question ID: 25172
According to the earnings multiplier model, a stock’s P/E ratio (P0/E1) is affected by all of the following EXCEPT the:


	
	A.
	required return on equity.


	
	B.
	expected dividend payout ratio.


	
	C.
	expected dividend growth rate.


	
	D.
	expected stock price in one year.

	
	
	


D

According to the earnings multiplier model, the P/E ratio is equal to P0/E1 = (D1/E1)/(ke - g). 

Thus, the P/E ratio is determined by: 
· The expected dividend payout ratio (D1/E1). 
· The required rate of return on the stock (ke). 
· The expected growth rate of dividends (g). 
  

	
	Question ID: 25176
The nominal risk-free rate is a function of the real risk-free rate and:


	
	A.
	expected bond yields.


	
	B.
	the nominal expected market risk premium.


	
	C.
	the real expected market risk premium.


	
	D.
	expected inflation.

	
	
	


D

The nominal risk-free rate is a function of the real risk-free rate and expected inflation: 
nominal risk free rate = (1 + real risk-free rate)(1 + expected inflation) – 1 
	
	Question ID: 16961

If the real risk-free rate is 5 percent, and the expected rate of inflation is 1 percent, what is the estimated nominal risk-free rate?


	
	A.
	5.00%.


	
	B.
	6.05%.


	
	C.
	0.02%.


	
	D.
	4.00%. 

	
	
	


B

The nominal risk free rate = (1 + Real risk-free rate)(1+ Expected Inflation) – 1, (1.05) x (1.01)-1 = 6.05%.
	
	Question ID: 25178
If expected inflation increases, all else equal, the:


	
	A.
	nominal risk-free rate will increase.


	
	B.
	nominal risk-free rate will decrease.


	
	C.
	real market risk premium will decrease.


	
	D.
	real market risk premium will increase.

	
	
	


A

The nominal risk free rate is a function of the real risk-free rate and expected inflation: 
Nominal risk free rate = (1 + real risk-free rate)(1 + expected inflation) – 1
If expected inflation increases, but the real risk-free rate stays the same, the nominal risk-free rate will increase. 
	
	Question ID: 25175
The nominal risk-free rate is equal to:


	
	A.
	the real risk-free rate plus expected inflation, minus one.


	
	B.
	one plus the real risk-free rate times one plus expected inflation.


	
	C.
	the real risk-free rate minus expected inflation.


	
	D.
	one plus the real risk-free rate times one plus expected inflation, minus one.

	
	
	


D

The nominal risk-free rate is a function of the real risk-free rate and expected inflation: 
nominal risk free rate = (1 + real risk-free rate)(1 + expected inflation) – 1
Note that the nominal rate is frequently estimated by summing the real rate and the rate of expected inflation. 
	
	Question ID: 25177
The real risk-free rate is approximately equal to:


	
	A.
	the ratio of the nominal risk-free rate to the real expected market risk premium.


	
	B.
	the nominal risk-free rate plus expected inflation.


	
	C.
	expected inflation.


	
	D.
	the nominal risk-free rate minus expected inflation.

	
	
	


D

The nominal risk free rate is a function of the real risk-free rate and expected inflation: 
nominal risk free rate = (1 + real risk-free rate)(1 + expected inflation) – 1
 real risk-free rate + expected inflation

Therefore the real risk-free rate is approximately equal to:
nominal risk-free rate – expected inflation. 
	
	Question ID: 16963

In estimating the required rate of return for a foreign security, the risk premium will be a function of:


	
	A.
	business risk.


	
	B.
	All of these choices are correct.


	
	C.
	liquidity risk.


	
	D.
	exchange rate risk and country risk. 

	
	
	


B

The risk premium will be a function of 5 risks. The risks are business risk, financial risk, liquidity risk, exchange rate risk, and country risk.
	
	Question ID: 25179
Given the following information, compute the dividend growth rate. 
· Profit margin = 10.0% 
· Total asset turnover = 2.0 times 
· Financial leverage = 1.5 times 
· Dividend payout ratio = 40.0% 
  


	
	A.
	18.0%


	
	B.
	4.5%


	
	C.
	30.0%


	
	D.
	12.0%

	
	
	


A

Retention ratio equals 1 – 0.40, or 0.60. 
Return on equity equals (10.0%)(2.0)(1.5) = 30.0%.
Dividend growth rate equals (0.60)(30.0%) = 18.0%
	
	Question ID: 16981
If a firm’s dividend payout ratio is 35 percent, its earnings this past year were $5.00 per share, and the Beta for the firm’s stock is 1.2, what is the retention rate?


	
	A.
	78%


	
	B.
	65%


	
	C.
	Cannot be determined from the information given.


	
	D.
	3.25

	
	
	


B

	
	Question ID: 16973
The inverse of a company’s payout ratio minus 1 is 1.22. Its expected return on equity (ROE) is 23 percent. Based on the simple dividend discount model (DDM) what is the expected growth rate in the company’s dividends?


	
	A.
	4.16%


	
	B.
	12.64%


	
	C.
	Cannot be determined with the information given.


	
	D.
	10.35%

	
	
	


B

	Payout Ratio =
	1
	= 45.05%

	
	(1 + 1.22)
	


 

	Growth Rate 
	= (ROE)(1- Payout Ratio)

	
	= (23.00)(54.95)

	
	= 12.64%


	
	Question ID: 16975
An estimate of a firm’s sustainable growth rate would be based upon which of the following? The:


	
	A.
	risk-free rate of return.


	
	B.
	firm’s return on equity (ROE).


	
	C.
	firm’s return on equity (ROE) and the earnings retention rate.


	
	D.
	firm’s earnings retention rate.

	
	
	


C

	
	Question ID: 16966

The Internal or Sustainable Growth Rate of dividends is equal to:


	
	A.
	(ROE) x (1+RR).


	
	B.
	(ROE) x (1-RR).


	
	C.
	(1-ROE) x (RR).


	
	D.
	(ROE) x (RR). 

	
	
	


D

The Internal or Sustainable Growth Rate of dividends is equal to the return on the equity portion of new investments (ROE) multiplied by the firm's retention rate (RR).
	
	Question ID: 16968

The growth rate of dividends is developed by:


	
	A.
	dividing the firm's earnings retention rate by the ROE.


	
	B.
	multiplying the firm's earnings retention rate times the ROE.


	
	C.
	subtracting the earnings retention ratio from the ROE.


	
	D.
	adding the firm's earnings retention rate to the ROE. 

	
	
	


B

	
	Question ID: 16978
A company with a return on equity (ROE) of 27 percent, required return “k” of 20 percent, and a dividend payout ratio of 40 percent has an implied sustainable growth rate of :


	
	A.
	12.00%


	
	B.
	8.00%


	
	C.
	16.20%


	
	D.
	10.80%

	
	
	


C

g = (RR)(ROE)
= (.60)(.27)
= 0.162 or 16.2%
	
	Question ID: 25183
A stock’s dividend growth rate is a function of each of the following EXCEPT:


	
	A.
	profit margin.


	
	B.
	P/E ratio.


	
	C.
	dividend payout ratio.


	
	D.
	total asset turnover. 

	
	
	


B

Assuming past investments are stable and earnings are calculated to allow for maintenance of past earnings power, then the firm’s expected dividend growth rate (g) can be defined as the firm’s earnings plowback or retention rate (RR) times the return on the equity (ROE) portion of new investment. RR is equal to 1 minus the dividend payout ratio, and ROE equals profit margin times total asset turnover times financial leverage. This growth rate is also called the sustainable growth rate.
	
	Question ID: 25180
The capital asset pricing model can be used to estimate which of the following inputs to the dividend discount model?


	
	A.
	The expected inflation rate.


	
	B.
	The expected dividend yield.


	
	C.
	The expected growth rate in dividends.


	
	D.
	The required rate of return.

	
	
	


D

The capital asset pricing model is a rate of return model that can be used to estimate a stock’s required rate of return, given the nominal risk-free rate, the market risk premium, and the stock’s beta: k = Rnominal risk free rate + (beta)(Rmarket - Rnominal risk free rate). 
	
	Question ID: 25184
Assuming past investments are stable and earnings are calculated to allow for maintenance of past earnings power, the firm’s expected dividend growth rate can be estimated by its:


	
	A.
	earnings to price ratio.


	
	B.
	risk premium.


	
	C.
	price to earnings ratio.


	
	D.
	sustainable growth rate.

	
	
	


D

Assuming past investments are stable and earnings are calculated to allow for maintenance of past earnings power, then the firm’s expected dividend growth rate (g) can be defined as the firm’s earnings plowback or retention rate (RR) times the return on the equity (ROE) portion of new investment. RR is equal to 1 minus the dividend payout ratio, and ROE equals profit margin times total asset turnover times financial leverage. This growth rate is also called the sustainable growth rate.
	
	Question ID: 16987
Given a beta of 1.10 and a risk free rate of 5 percent, what is the expected rate of return assuming a 10 percent market return?


	
	A.
	5.5%.


	
	B.
	21.5%.


	
	C.
	10.5%.


	
	D.
	15.5%.

	
	
	


C

k = 5 + 1.10 (10 - 5)
= 5 + 1.10 (5)
= 5 + 5.5
= 10.5
	
	Question ID: 16985
In reviewing a standard dividend discount model (DDM) which of the following factors does NOT affect the discount rate, or “K” – the required rate of return on the investment?


	
	A.
	ROA.


	
	B.
	Risk-free rate of return.


	
	C.
	Beta.


	
	D.
	Expected inflation rate.

	
	
	


A

	
	Question ID: 16988
  In its latest annual report, a company reported the following:
  
Net income
= $1,000,000
Total equity
= $5,000,000
Total assets
= $10,000,000
Dividend payout ratio
= 40 percent
  
Based on the sustainable growth model, the most likely forecast of the company’s future earnings growth rate is: 


	
	A.
	8%.


	
	B.
	12%.


	
	C.
	4%.


	
	D.
	6%.

	
	
	


B

g = (RR)(ROE)
RR = 1 - dividend payout ratio = 1 - .4 = .6
ROE = NI / Total Equity = 1,000,000 / 5,000,000 = 1/5 = .2
g = (.6)(.2) = .12 or 12 %
	
	Question ID: 16986
Evidence that a firm has high business risk would be provided by its volatile:


	
	A.
	sales.


	
	B.
	profit after taxes.


	
	C.
	operating profit.


	
	D.
	fixed costs.

	
	
	


C

Business risk is one component of k, the required rate of return.
	
	Question ID: 25182
One input to the dividend discount model is the stock’s dividend growth rate, which can be estimated as: 


	
	A.
	the difference between the retention ratio and the return on equity.


	
	B.
	the inverse of the price-earnings ratio.


	
	C.
	the product of the return on equity and the dividend payout ratio.


	
	D.
	the product of the retention ratio and the return on equity.

	
	
	


D

Assuming past investments are stable and earnings are calculated to allow for maintenance of past earnings power, then the firm’s expected dividend growth rate (g) can be defined as the firm’s earnings plowback or retention rate (RR) times the return on the equity (ROE) portion of new investments. This growth rate is also called the sustainable growth rate.
	
	Question ID: 25181
The required rate of return on a stock used as an input to the dividend discount model is influenced by each of the following factors EXCEPT:


	
	A.
	the stock's appropriate risk premium.


	
	B.
	the stock's dividend payout ratio.


	
	C.
	the economy's real risk-free rate.


	
	D.
	the expected inflation rate.

	
	
	


B

A stock’s required rate of return is equal to the nominal risk-free rate plus a risk premium. The nominal risk-free rate is approximately equal the real risk-free rate plus expected inflation.
	
	Question ID: 16903
Why would a professional investor or analysts tend to NOT rely heavily on dividend discount valuations?


	
	A.
	Firms with temporary high-growth conditions have characteristics that are inconsistent with mode.


	
	B.
	All of these choices are correct.


	
	C.
	Small differences in key assumptions made can produce widely varying results.


	
	D.
	Many rapid growth companies pay little or no dividends, and speculation about their future plans may be futile.

	
	
	


C

	
	Question ID: 16944
In growth models, which of the following does NOT affect the capital gain component?


	
	A.
	The relation between the firm’s rate of return and its required rate or return.


	
	B.
	The dividend payout ratio.


	
	C.
	Retention ratio.


	
	D.
	The time period for superior investments.

	
	
	


D

	
	Question ID: 16931

What is the value of a stock that paid a $2 dividend last year if dividends are expected to grow at a 5 percent rate forever? The risk-free rate is 5 percent, the expected return on the market is 12 percent, and the stock's beta is 1.5.


	
	A.
	$12.50.


	
	B.
	$20.00.


	
	C.
	$17.50.


	
	D.
	$10.00. 

	
	
	


B

	P0
	=D1/(k-g)

	Rs
	=Rf = B(RM-Rf) = .05 + 1.5(.12-.05) =.105 + .155

	D1
	=D0(1 + g) = 2(1.05) = 2.10

	P0
	=P02.10/(.155 - .05) = $20.00


	
	Question ID: 16964

Which of the following statements regarding risk factors in estimating the required rate of return for foreign securities are TRUE? 


	
	A.
	All of these choices are correct.


	
	B.
	Firms in different countries assume significantly different financial risk.


	
	C.
	Countries with large or active capital markets offer significant liquidity risk.


	
	D.
	Country risk arises from expected economic and political events. 

	
	
	


B

Country risk arises from unexpected not expected economic and political events. Countries with small or inactive capital markets offer liquidity risk, not countries with large and active capital markets.
	
	Question ID: 16974
What will be the value of present value of growth opportunities (PVGO) for a company with is retaining the majority of its earnings and whose return on equity (ROE) on new projects is less than the required return for the stock?


	
	A.
	Infinity.


	
	B.
	Undefined.


	
	C.
	Positive.


	
	D.
	Negative.

	
	
	


D

Setup Text: 
An analyst has gathered the following data about a firm:
· dividend payout ratio is 45 percent. 

· beta is 1.50. 

· risk-free rate is 6.5 percent. 

· expected market return is 15 percent. 

	
	Question ID: 16980
If the firm earned $5.00 per share in the most recent twelve months, what is the company’s retention ratio?


	
	A.
	21.50%


	
	B.
	2.75%


	
	C.
	Not enough information given.


	
	D.
	55.00%

	
	
	


D

RR = 1 - dividend payout ratio
= 1 - .45 = .55
	
	Question ID: 16980
Based on the information given in the question above, what is the firm’s CAPM required return on equity.


	
	A.
	21.50%


	
	B.
	None of these answers are correct.


	
	C.
	19.25%


	
	D.
	29.00%

	
	
	


C

CAPM = Risk Free Rate + Beta (Market Return - Risk Free Rate)
= 6.5 + (1.50)(15-6.5)
= 6.5 + 12.75
= 19.25
	
	Question ID: 16924

What value would be placed on a stock that currently pays no dividend but is expected to start paying a $1 dividend five years from now? Once the stock starts paying dividends, the dividend is expected to grow at a 5 percent annual rate. The appropriate discount rate is 12 percent.


	
	A.
	$9.08.


	
	B.
	$16.00.


	
	C.
	$8.11.


	
	D.
	$14.29. 

	
	
	


A

P4 = D5/(k-g) = 1/(.12-.05) = 14.29 
P0 = [FV = 14.29; n = 4; i = 12] = $9.08. 

	
	Question ID: 16907

What would an investor be willing to pay for a share of preferred stock that paid an annual dividend of $5.50 if the current market yield on AAA rated preferred stock is 75 basis points above the current T-Bond rate of 7 percent.


	
	A.
	$70.97.


	
	B.
	$42.63.


	
	C.
	$88.00.


	
	D.
	$78.57. 

	
	
	


A

k preferred = base yield + risk premium = .07 + .0075 = .0775 Value Preferred=Dividend/k preferred Value = 5.50/.0775 = $70.97
	
	Question ID: 16900
Which of the following is NOT typically regarded as a component of the risk premium portion of the required rate of return “k”?


	
	A.
	Country risk.


	
	B.
	Exchange rate risk.


	
	C.
	Liquidity risk.


	
	D.
	Inflation risk.

	
	
	


D

By definition.
1.B: Stock-Market Analysis
	
	Question ID: 16996

For a stock market series, the estimated sales per share is $80; estimated earnings before interest, taxes, depreciation, and amortization margin (EBITDA) is 15 percent; and depreciation and interest expenses are both estimated at $4 per share next year. If the tax rate is 30 percent,what is the estimated expected earnings per share for the stock market series?


	
	A.
	$4.00.


	
	B.
	$5.60.


	
	C.
	$2.80.


	
	D.
	$14.00. 

	
	
	


C

The earnings per share (EPS) of a stock market series is =[(Per share sales estimate)(EBITDA %)-Depreciation expense-Interest expense](1-Tax rate) = [(80) x (0.15)-4-4](1-0.30)=$2.80.
	
	Question ID: 17004
Which of the following was NOT recognized by Finkel and Tuttle as a variable affecting the aggregate operating profit margin? The expected:


	
	A.
	capacity utilization rate.


	
	B.
	leel of unit labor costs.


	
	C.
	rate of inflation.


	
	D.
	level of domestic price competition.

	
	
	


D

	
	Question ID: 17000
Which of the following variables does NOT affect the aggregate profit margin?


	
	A.
	Interest expense.


	
	B.
	Capacity utilization rate.


	
	C.
	Unit labor costs.


	
	D.
	Rate of inflation.

	
	
	


A

Aggregate profit margin is the same as operating profit margin defined as earnings before depreciation, interest, and taxes (EBDIT). Since EBDIT does not contain interest expense as a component, it does not affect the aggregate profit margin. Another determinant of EBDIT besides capacity utilization rate, unit labor costs, and the rate of inflation is foreign competition. Export markets are thought to be more competitive than a strictly domestic market. Therefore, as exports increase, profit margins should fall - a negative relationship.
	
	Question ID: 16989

A stock market has an expected dividend payout ratio of 40 percent and an expected growth rate in dividends of 7.5 percent. The risk-free rate is 5 percent, the equity risk premium is 8 percent, and the beta of the market is 1.0. Given the information, what is the stock market's price-to-earnings (P/E) ratio?


	
	A.
	10.91.


	
	B.
	8.89.


	
	C.
	7.27.


	
	D.
	80.00. 

	
	
	


C

The discount rate (ke) is 0.05 + (1) x (0.08) = 0.13. The P/E ratio = D1/E1/(ke – g) = 0.04/(0.13 – 0.075) = 7.27%.
	
	Question ID: 17009
Internal growth rate, or g, is a function of:


	
	A.
	dividend payout rate and EBIT.


	
	B.
	retention rate (b) and ROE.


	
	C.
	dividend payout rate and ROE.


	
	D.
	retention rate (b) and EBIT.

	
	
	


B

	
	Question ID: 17005

Assume that the earnings multiplier of a stock market series is 40. If the discount rate (k) is expected to sharply increase, what will happen to the earnings multiplier of the stock market series if all other components are expected to remain the same?


	
	A.
	Increase sharply and then slowly decrease.


	
	B.
	Decrease.


	
	C.
	Remain at 40.


	
	D.
	Increase. 

	
	
	


B

The earnings multiplier (P0/E1) is equal to (D1/E1)/(k – g). If the other three components of the earnings multiplier for a stock market series remain the same, an increase in the required rate of return (k) will lower P/E of the series.
	
	Question ID: 17010

An investor estimates that for next year, the earning multiplier of a stock market series to be 25X, and that the index will earn $600 and payout $400 in dividends. If the stock market index is now at 14,000, what is the expected rate of return for the stock market series?


	
	A.
	7.14%.


	
	B.
	10.00%.


	
	C.
	9.33%.


	
	D.
	-4.00%. 

	
	
	


B

The expected rate of return for a stock market series is, [Expected Dividends + (Index Ending Price – Index Beginning Price)] / Index Beginning Price. Since the index's P/E ratio is 25 and earnings are $600, the expected value of the series at year-end is (P/E) x (E) = (25) x (600) = 15,000. Thus, expected return = [400 + (15,000 – 14,000)]/14,000 = 10%.
	
	Question ID: 17012

If the German Equity Market has an expected return of 15 percent, expected dividends of $40, and a current index value of 300, what is the expected index value at year-end?


	
	A.
	300.


	
	B.
	345.


	
	C.
	385.


	
	D.
	305. 

	
	
	


D

The expected rate of return for a stock market series is, Expected Return = [Expected Dividends + (Index Ending Price – Index Beginning Price)] / Index Beginning Price. Solving for the Index Ending Price, ending price = (expected return)(index beginning price) – expected dividends + index beginning price = (0.15)x(300) – 40 + 300 = 305.
	
	Question ID: 16990

An analyst wants to forecast the market index P/E ratio. He feels that the dividend payout ratio will contract to 40 percent and the ROE will be 15 percent. He also thinks the nominal risk free rate will rise to 7 percent. Due to increased optimism in the market, he feels the equity risk premium will fall to 4 percent. What would be the market index P/E projection?


	
	A.
	20X.


	
	B.
	10X.


	
	C.
	8X.


	
	D.
	12X. 

	
	
	


A

RM = Rf + Equity risk premium = .07 + .04 = .11 
retention rate = 1 - dividend payout rate = 1 - .4 = .6 

g = (retention rate)(ROE) = .6(.15) = .09 

P/E = div payout / (k - g) = .4 / (.11 - .09) = 20 

	
	Question ID: 17003
Short-run forecasts will be most influenced by which of the following?


	
	A.
	Federal reserve interest rate action.


	
	B.
	Treasury Notes.


	
	C.
	A change in the long-run supply forces.


	
	D.
	A change in the 5-year inflation expectation.

	
	
	


A

	
	Question ID: 17011
Which of the following is NOT a component of the DuPont return on equity (ROE)formula?


	
	A.
	Equity Mutliplier.


	
	B.
	Asset Turnover.


	
	C.
	Assets / Equity.


	
	D.
	NI / Assets.

	
	
	


D

	
	Question ID: 17001
After estimating operating profit margin, what is it multiplied by to obtain an estimate of (EBDIT) earnings before depreciation interest and taxes.


	
	A.
	Earnings estimate.


	
	B.
	Unit labor costs.


	
	C.
	EBIT.


	
	D.
	Sales estimate.

	
	
	


D

	
	Question ID: 16995
Estimating the operating profit margin using EBDIT as compared to net profit margins based on recent trends or net profit margins on a before tax basis can best be characterized as being:


	
	A.
	measurable.


	
	B.
	predictable.


	
	C.
	stable.


	
	D.
	volatile.

	
	
	


C

This measure is before depreciation, interest, and taxes, thus it is more stable than the other two methods: net profit based on recent trends and net profits before tax profit margin.
	
	Question ID: 17008
The following factors are important when estimating:
RFR - economy's risk-free rate
I - inflation
BR - aggregate corporate business risk
FR - aggregate corporate financial risk
LR - stock market liguidity risk
ERR - exchange rate risk
CR - country risk


	
	A.
	ROE.


	
	B.
	EBDIT.


	
	C.
	Required rate of return.


	
	D.
	Nominal risk-free rate.

	
	
	


C

	
	Question ID: 16994
A demand-side economist would be primarily interested in which of the following?


	
	A.
	All of these choices are correct.


	
	B.
	Tax revenues and government expenditures.


	
	C.
	Monetary policy.


	
	D.
	The government's fiscal policy.

	
	
	


A

	
	Question ID: 16994
A demand-side economist would be primarily interested in which of the following?


	
	A.
	All of these choices are correct.


	
	B.
	Tax revenues and government expenditures.


	
	C.
	Monetary policy.


	
	D.
	The government's fiscal policy.

	
	
	


D

EPS = [(SPS)(EBDIT%) – D – I](1 – t) 
EPS = [1000(.10) – 15 – 5](1 - .25) = $60 

1.C: Industry Analysis
	
	Question ID: 17016
During a period of expansion in the economy compared to firms with lower operating expense levels, the earnings growth for firms with high operating leverage will be?


	
	A.
	higher.


	
	B.
	not enough information. 


	
	C.
	lower.


	
	D.
	roughly the same.

	
	
	


A

If a high percentage of a firm's total costs are fixed, the firm is said to have high operating leverage. High operating leverage, other things held constant, means that a relatively small change in sales will result in a large change in operating income. Therefore, during an expansionary phase in the economy a highly leveraged firm will have higher earnings growth than a lesser leveraged firm. The opposite will happen during an economic contraction.
	
	Question ID: 17013

An investor estimates that the Coal Industry will have EBITDA profit margin of 5 percent, interest expense of $3 per share, and depreciation expense of $8 per share. She also forecasts that the Coal Industry Index will have sales per share of $285. The industry tax rate is 35 percent. What is the estimated EPS (earnings per share) of the Coal Industry?


	
	A.
	$2.11.


	
	B.
	$9.26.


	
	C.
	$4.39.


	
	D.
	$3.25. 

	
	
	


A

The estimated earnings per share (EPS) of a industry is EPS = [(Per share sales estimate)(EBITDA %) – Depreciation expense – Interest expense](1 – Tax rate) = [(285)x(0.05) – 8 – 3](1 – 0.35) = $2.11.
	
	Question ID: 17022

Which of the following is NOT a stage in the industry life cycle?


	
	A.
	Decline.


	
	B.
	Maturity.


	
	C.
	Growth.


	
	D.
	Consolidation. 

	
	
	


D

The five stages are: pioneering, rapid acceleration, mature, stabilization and maturity, and deceleration and decline.
	
	Question ID: 17018

Which of the following statements about the simple growth stock valuation model is FALSE?


	
	A.
	For a mature or expanding firm the valuation model simplifies to V = E/k.


	
	B.
	The growth component represents the present value of the excess earnings for growth investments (r-k).


	
	C.
	When the firm is only able to earn the investor's required rate of return on new investments the firm is a declining firm.


	
	D.
	A growth firm exists when the return on new investments exceeds the investor's required rate of return. 

	
	
	


C

	
	Question ID: 17023

At what phase in the industry life cycle is there an influx of competition?


	
	A.
	Early pioneering development.


	
	B.
	Decline.


	
	C.
	Growth.


	
	D.
	Consolidation. 

	
	
	


C

Here, sales growth is above normal, but growth is no longer accelerating. Competition inceases and profit margins begin to decline. The number of competitors increases and profit margins move toward normal levels.
	
	Question ID: 17024

Which of the following is NOT one of Michael Porter's basic forces that determine industry competition?


	
	A.
	Threat of substitute products.


	
	B.
	Threat of Government taxation.


	
	C.
	Threat of new entrants.


	
	D.
	Bargaining power of suppliers. 

	
	
	


B

Porter's 5 factors determining the intensity of competition within an industry are: rivalry among existing competitors, threat of new entrants, threat of substitute products, bargaining power of buyers, and bargaining power of suppliers.
	
	Question ID: 17028
Which of the following industry structure factors affect the performance of a firm within that industry?


	
	A.
	Industry operating leverage.


	
	B.
	The industry's stage in its life cycle.


	
	C.
	The current economic state.


	
	D.
	Threat of new entrants.

	
	
	


D

New entrants represent increased competition and lower profitablity.
	
	Question ID: 17034

The beta of firms in an industry which is highly sensitive to business cycle fluctuations will likely have a beta:


	
	A.
	which is greater than 1.0X.


	
	B.
	which is negative.


	
	C.
	equal to 1.0X.


	
	D.
	which is between 0.00X and 1.0X. 

	
	
	


A

	
	Question ID: 17030

Assume the industry's beta is 0.75, profit margin is 7 percent, turnover is 1.3X, asset/equity leverage is 0.8, risk-free rate is 4 percent, the market equity premium is 8 percent, and the industry expected payout is 20 percent of earnings as dividends. Estimate the industry's price-to-earnings (P/E) multiplier.


	
	A.
	16.67.


	
	B.
	2.34.


	
	C.
	4.79.


	
	D.
	19.05. 

	
	
	


C

There are five steps to get the answer. Step 1, calculate the required rate of return = 0.04 + 0.75(0.08) = 0.10. Step 2, calculate the earnings retention rate (RR) = (1 – payout rate) = (1 – 0.20) = 0.80. Step 3, calculate the return on equity (ROE) = (net income/sales)(sales/assets)(assets/equity) = (0.07)(1.30)(0.80) = 0.0728. Step 4, calculate the sustainable growth rate, g = (ROE)(RR) = (0.0728)(0.80) = 0.05824. Step 5, calculate the industry P/E multiplier = (D1/E1)/(k-g) = (0.2)/(0.10 – 0.05824) = 4.79.
	
	Question ID: 17033
Two accounting mearsures of profitability are:


	
	A.
	ROE & total asset turnover ratio.


	
	B.
	ROA & Debt Coverage Ratio.


	
	C.
	Net Profit Margin & ROA.


	
	D.
	ROE & P/E.

	
	
	


C

	
	Question ID: 17036

All else equal, which of the following would increase a company's P/E ratio?


	
	A.
	The Treasury bill yield decreases.


	
	B.
	Inflation expectation increases.


	
	C.
	The Treasury bill yield increases.


	
	D.
	Investor's risk aversion increases. 

	
	
	


A

	
	Question ID: 17038

Global industry analysis must consider which of the following factors?


	
	A.
	The world supply, demand, and cost components for an industry.


	
	B.
	All of these choices are correct.


	
	C.
	The impact of accounting conventions on valuation levels.


	
	D.
	The impact of exchange rates on the whole industry. 

	
	
	


B

In conducting a global industry analysis, analysts must consider all of the listed factors.
	
	Question ID: 17015
Cross-sectional industry preformance suggests:


	
	A.
	there is homogenous return across industries.


	
	B.
	industry analysis is very valuable.


	
	C.
	analysts should perform only broad market analysis.


	
	D.
	individual industry risk factors are not constant through time.

	
	
	


B

Performance varies widely across industries at any given point in time. This implies industry analysis is a valuable pursuit for stock portfolio sector allocation.
	
	Question ID: 17035

The payout ratio:


	
	A.
	is computed by dividing declared dividends by net income and can vary wildly over time.


	
	B.
	is the inverse of the retention ratio.


	
	C.
	is computed by dividing declared dividends by net income.


	
	D.
	can vary wildly over time. 

	
	
	


A

	
	Question ID: 17029

In the last several years, there has been a major industrial mix movement away from manufacturing and toward:


	
	A.
	new product development.


	
	B.
	entrepreneurial activity.


	
	C.
	service industries.


	
	D.
	specialized industries. 

	
	
	


C

	
	Question ID: 17021
It would be erroneous to only consider investment in growth industries since they:


	
	A.
	offer the most promising earnings growth potential.


	
	B.
	require a higher required return.


	
	C.
	are often the most risky industries.


	
	D.
	may not offer investors the best risk-return trade-off

	
	
	


D

Investing in high growth industries can mean high returns for taking on higher risks, but they can also have high losses as opposed to an industry that has a low risk but produces consistent returns.
	
	Question ID: 17032
Which of the following best describes a "defensive" stock?


	
	A.
	Highly sensitive to broad market movements.


	
	B.
	A large cyclical manufacturing firm.


	
	C.
	A low Beta stock.


	
	D.
	A company which pays no dividends.

	
	
	


C

	
	Question ID: 17042
In a country with a wide gap between income level groups, which firms might be most successful?


	
	A.
	Both high-end boutiques and low-end "value" retailers.


	
	B.
	General merchandisers who can serve all income segments.


	
	C.
	High-end boutiques.


	
	D.
	Low-end "value" retailers.

	
	
	


A

	
	Question ID: 17039

Estimating a firm's profit margin requires all of the following EXCEPT:


	
	A.
	analyzing the firm's internal performance.


	
	B.
	identifying and evaluating the firm's specific competitive strategy.


	
	C.
	studying the firm's relationship with its industry.


	
	D.
	calculating the firm's earnings multiplier. 

	
	
	


D

	
	Question ID: 17014
Which of the following is NOT a basic assumption behind industry analysis?


	
	A.
	The impact of economic factor changes will likely impact an industry's firms the same.


	
	B.
	Firms in a particular industry are affected by the same general economic factors.


	
	C.
	Economies of analysis can be gained by estimating drivers for an entire industry.


	
	D.
	Firms in the same industry can be evaluated using the same required return.

	
	
	


D

This statement is false because an individual companies rate of return varies at any given point in time. Thus, industry analysis is important since past performance is not a good predictor of future performance.
	
	Question ID: 17025

Which of the following statements about Porter's five factors is FALSE?


	
	A.
	The presence of substitute products limits the profit potential of an industry.


	
	B.
	New entrants to an industry means increased competition.


	
	C.
	Rivalry increases when many firms of relatively equal size compete within an industry.


	
	D.
	Profitability is enhanced by increases in the bargaining power of buyers and suppliers to an industry. 

	
	
	


D

If buyers bargaining power is increased, firms profitablity will decrease.
	
	Question ID: 17020
Information regarding social and demographic trends:


	
	A.
	is not very reliable.


	
	B.
	can be obtained only by "inside" market participants.


	
	C.
	is hard to obtain but provides very valuable information.


	
	D.
	is easy to obtain but can provide value through astute interpretation.

	
	
	


D

1.D: Company Analysis and Stock Selection
	
	Question ID: 17054
 Assume the following information for a stock: 
  
Beta coefficient

= 1.50
Risk-free rate


= 6 percent
Expected rate of return on market

= 14 percent
Dividend payout ratio

= 30 percent
Expected dividend growth rate


= 11 percent
  
Using a dividend discount model approach, the normalized price earnings ratio is: 


	
	A.
	10.00


	
	B.
	3.33.


	
	C.
	4.29.


	
	D.
	5.56.

	
	
	


C

	P/E = 
	D/E1

	
	k - g


D/E1 = Dividend payout ratio = .3 
g = .11
k = 6 + (1.5)(14 -6)
= 6 + (1.5)(8)
= 6 + 12
= 18%
	P/E = 
	.3
	=
	.3
	= 4.29

	
	.18 - .11
	
	.07
	


	
	Question ID: 17051
The expected rate of return is 2.5 times the 12 percent expected rate of return from the market. What is the beat if the risk free rate is 6 percent?


	
	A.
	5.


	
	B.
	4.


	
	C.
	2.


	
	D.
	3.

	
	
	


B

30 = 6 + β (12 - 6)
30 = 6 + 6β
24 = 6β
24/6 = β
β = 4
	
	Question ID: 17048
Given a beta of 1.55 and a risk free rate of 8 percent, what is the expected rate of return, assuming a 14 percent market return?


	
	A.
	14.3%.


	
	B.
	12.4%.


	
	C.
	17.3%.


	
	D.
	20.4%.

	
	
	


C

k = 8 + 1.55(14-8)
= 8 + 1.55(6)
= 8 + 9.3
= 17.3
	
	Question ID: 17043

An investor predicts that ABC Inc. will have dividends next year of $10 per share and earnings of $12 per share. ABC Inc. has an expected growth rate in dividends of 1 percent. If the firm's beta is 1.25, the risk-free rate is 6 percent, and the expected market return is 10 percent, what is ABC Inc.'s estimated future earnings multiplier (P/E)?


	
	A.
	12.00.


	
	B.
	8.33.


	
	C.
	83.33.


	
	D.
	9.26. 

	
	
	


B

The required rate of return (k) is 0.06 + 1.25(0.10 – 0.06) = 0.11. The firm's P/E multiplier = (D1/E1)/(k-g) = (10/12)/(0.11-0.01) = 8.33.
	
	Question ID: 17056
Assuming all other factors remain unchanged, which of the following would reduce a firm’s price / earnings ratio?


	
	A.
	The yield on Treasury bills increases.


	
	B.
	Investors become less risk averse.


	
	C.
	The level of inflation is expected to decline.


	
	D.
	The dividend payout ration increases.

	
	
	


A

An increase in the yeild on Treasury bills will cause the risk free rate to increase causing k to increase. Since k is in the denominator of the P/E calculation this would decrease the P/E ratio.
P/E = D/E1 / k - g
	
	Question ID: 17060

The current price of XYZ Inc. is $40 per share with 1,000 shares of equity outstanding. Sales are $4,000 and the book value of the firm is $10,000. What is the price/sales ratio of XYZ Inc.?


	
	A.
	0.010.


	
	B.
	0.004.


	
	C.
	10.000.


	
	D.
	4.000. 

	
	
	


C

The price/sales ratio is (price per share)/(sales per share) = (40)/(4,000/1,000) = 10.0.
	
	Question ID: 17061

Smith Inc. has a required rate of return is 10 percent. If the firm does not have a franchise value, what is the observed price-to-earnings (P/E) ratio of Smith Inc.?


	
	A.
	100.0.


	
	B.
	1.0.


	
	C.
	0.1.


	
	D.
	10.0. 

	
	
	


D

The firm's observed P/E = the firm's base P/E + the franchise P/E. The firm's base P/E = 1/k. If no value is being added by holding the franchise, the observed P/E ratio = 1/k = 1/0.1 = 10.
	
	Question ID: 17062
The incremental franchise P/E is a function of all of the following except the:


	
	A.
	current cost of equity.


	
	B.
	ability of management.


	
	C.
	expected return on new opportunities.


	
	D.
	current ROE on investment.

	
	
	


B

	
	Question ID: 17063

Which of the following factors are NOT important when conducting a global company analysis?


	
	A.
	All of these choices are correct.


	
	B.
	Only the strengths, not the weaknesses, of the firm.


	
	C.
	Only the strengths, not the weaknesses, of the firm.


	
	D.
	Differing accounting conversions. 

	
	
	


C

The analyst, when conducting a global company analysis, should examine both the strengths and the weaknesses of the firm.
	
	Question ID: 17049
The expected rate of return is twice the 12 percent expected rate of return from the market. What is the beta if the risk free rate is 6 percent.


	
	A.
	5.


	
	B.
	3.


	
	C.
	2.


	
	D.
	4.

	
	
	


B

24 = 6 + β (12 - 6)
24 = 6 + 6β
18 = 6β
18 / 6 = β
β = 3font>

	
	Question ID: 17046
A defensive stock is best characterized as:


	
	A.
	being heavily influenced by aggregate business activity.


	
	B.
	generally retaining a large portion of earnings


	
	C.
	having low systematic risk.


	
	D.
	usually having an active rather than a passive dividend policy.

	
	
	


C

Systematic risk is measured by a stock's beta therefore, this stock's beta would be less than 1.
	
	Question ID: 17047
According to Porter, which of the following are two important competitive strategies?


	
	A.
	New entrant deterrent, differentiation.


	
	B.
	Low cost leadership, differentiation.


	
	C.
	Differentiation, monopolistic.


	
	D.
	Low cost leadership, barrier to entry.

	
	
	


B

By definition.
	
	Question ID: 17045
Which of the following would allow a company to pursue a cost leadership strategy?


	
	A.
	Volume Purchasing.


	
	B.
	Patents.


	
	C.
	All of these choices are correct.


	
	D.
	Economics of scale.

	
	
	


C

	
	Question ID: 17053
If the return of equity of a firm is 15 percent and the retention rate is 40 percent, the sustainable growth rate of the firm’s earnings and dividends should be:


	
	A.
	9%.


	
	B.
	6%.


	
	C.
	15%.


	
	D.
	40%.

	
	
	


B

g = (RR)(ROE)
= (.15)(.40)
= .06 or 6%
	
	Question ID: 17055
A stock has a required rate of return of 15 percent, a constant growth rate of 10 percent, and a dividend payout ratio of 45 percent. The stock’s price-earnings ratio should be:


	
	A.
	11.0 times.font>


	
	B.
	9.0 times.font>


	
	C.
	3.0 times.font>


	
	D.
	4.5 times.font>

	
	
	


B

P/E = D/E1/ k - g
D/E1 = Dividend Payout Ratio = .45
k = .15
g = .10
P/E = .45 / .15 - .10
= .45 / .05
= 9
1.E: Technical Analysis
	
	Question ID: 17069

According to a technician, stock prices tend to move:


	
	A.
	only when accompanied by volume.


	
	B.
	in an advance-decline series.


	
	C.
	in trends that persist.


	
	D.
	randomly. 

	
	
	


C

	
	Question ID: 17064

Which of the following is NOT an underlying assumption of technical analysis?


	
	A.
	Supply and demand is driven by only rational behavior.


	
	B.
	Security prices move in trends that persist for long periods of time.


	
	C.
	Values and thus prices are determined by supply and demand.


	
	D.
	All of these choices are correct. 

	
	
	


A

Supply and demand is driven by both rational and irrational behavior.
	
	Question ID: 17066

A technical analyst believes stock prices are primarily driven by:


	
	A.
	specialist trading.


	
	B.
	market supply and demand forces.


	
	C.
	block traders.


	
	D.
	the random walk hypothesis. 

	
	
	


B

	
	Question ID: 17076

Technical analysts differ from fundamental analysts in several basic assumptions. Which of the following assumptions would a technical analyst endorse that a fundamental analyst would reject?


	
	A.
	Stock prices will approach an equilibrium, or intrinsic, value over time.


	
	B.
	Financial statements and other public information is essential for accurate stock valuation.


	
	C.
	Stock prices typically move in repetitive long-term patterns.


	
	D.
	General economic conditions can greatly affect stock values. 

	
	
	


C

	
	Question ID: 17075

In what way do the assumptions of technical analysts disagree with the efficient market hypothesis? Technical analysts believe:


	
	A.
	new information is gradually reflected in prices and that past prices can predict future price movements.


	
	B.
	new information is gradually reflected in prices.


	
	C.
	you can not profit consistently from fundamental analysis.


	
	D.
	past prices can predict future price movements. 

	
	
	


A

	
	Question ID: 17070

Which of the following statements about technicians is FALSE? Technicians feel:


	
	A.
	market value is determined by supply and demand.


	
	B.
	their job is to detect the beginnings of trends, not to predict them.


	
	C.
	price adjustments happen rapidly when they occur.


	
	D.
	security prices tend to move in trends. 

	
	
	


C

	
	Question ID: 17077

One advantage of technical analysis is that it tells the analyst:


	
	A.
	Why investors are buying.


	
	B.
	When to buy; not why investors are buying.


	
	C.
	Only the economic reasons behind price changes.


	
	D.
	When to buy and why investors are buying. 

	
	
	


B

The four advantages of technical analysis are: it's quick and easy; it does not involve adjusting for accounting problems; it incorporates psychological as well as economic reasons behind price changes; and it tells when to buy, not why investors are buying.
	
	Question ID: 17079

What is a primary advantage of technical analysis?


	
	A.
	It relies on fundamental analysis.


	
	B.
	It is supported by the efficient market hypothesis.


	
	C.
	Successful trading rules can be copied by others.


	
	D.
	It is reasonably quick and simple. 

	
	
	


D

	
	Question ID: 17080

Several challenges to technical trading rules exist. Which of the following is NOT one of the challenges?


	
	A.
	If technical trading rules worked, it would self-destruct.


	
	B.
	As many traders incorporate successful strategies, its value would disappear.


	
	C.
	Interpreting the trading rules is not subjective.


	
	D.
	All of these choices are correct. 

	
	
	


C

Interpreting the trading rules is too subjective is the proper phasing of the challenge.
	
	Question ID: 17091

The resistance level signifies the price at which a stock's supply would be expected to:


	
	A.
	increase substantially.


	
	B.
	decrease substantially.


	
	C.
	decrease to match the demand for the stock.


	
	D.
	cause the stock price to "break out". 

	
	
	


A

	
	Question ID: 17087

Point and figure charting is most concerned with which of the following?


	
	A.
	Time.


	
	B.
	Price "jumps".


	
	C.
	Volume.


	
	D.
	Relative Strength. 

	
	
	


B

	
	Question ID: 17089

Which of the following measures is NOT used as a technical trading signal?


	
	A.
	PEG ratio (P/E ratio divided by expected growth rate)


	
	B.
	Block uptick-downtick ratio.


	
	C.
	Market breadth (advance/decline ratio)


	
	D.
	Short interest ratio. 

	
	
	


A

	
	Question ID: 17090

In addition to those factors monitored by a technician tracking volume alone, a technicial using bar charting would observe:


	
	A.
	resistance levels.


	
	B.
	daily highs, lows, and closes.


	
	C.
	support and resistance levels.


	
	D.
	support levels. 

	
	
	


B

	
	Question ID: 17092

Which of the following is one of the most important factors to a technical analyst?


	
	A.
	Times interest earned ratio.


	
	B.
	Mutual Fund Ratio.


	
	C.
	The current ratio.


	
	D.
	Price/earnings ratio. 

	
	
	


B

	
	Question ID: 17099

Which one of the following would be a bullish signal to a technical analyst who is "following the smart money"?


	
	A.
	The debit balance in brokerage accounts decreases.


	
	B.
	The ratio of short sales by specialists to total short sales becomes abnormally low.


	
	C.
	The yield differential between high-quality and low-quality bonds increases.


	
	D.
	The market shows good relative strength when compared to individual stocks. 

	
	
	


B

	
	Question ID: 17083

If the short interest ratio (SIR) is high (above 8.0), this indicates potential:


	
	A.
	for short selling, a bearish sign.


	
	B.
	demand, a bullish sign.


	
	C.
	demand, a bearish sign.


	
	D.
	for short selling, a bullish sign. 

	
	
	


B

Short interest is the cumulative number of shares that have sold short by investors and not covered. The short interest ratio (SIR) is equal to the outstanding short interest divided by the average daily volume on the exchange. If the SIR is high (6.0 or above), there is potential demand (a bullish sign). If the SIR is low (4.0 or below), there is potential for short selling.
	
	Question ID: 17088

Following the "smart money" implies expectation of a bullish market when the:


	
	A.
	yield differential between high-and low-quality bonds narrows.


	
	B.
	large majority of speculators expect stock index futures to decline.


	
	C.
	CBOE put/call ratio is high.


	
	D.
	confidence index is declining. 

	
	
	


A

	
	Question ID: 17078

Which of the following is NOT a perceived advantage of technical analysis?


	
	A.
	Technical trading techniques are difficult to mimic.


	
	B.
	Technical investors are only invested once price movement has begun.


	
	C.
	Technical investors don't depend on accounting information, which can be manipulated.


	
	D.
	Technicians do not rely on getting information first. 

	
	
	


A

	
	Question ID: 17072

Which of the following statements regarding the speed at which analysts impound information into stock prices is FALSE?


	
	A.
	Both technicians and followers of the efficient market hypothesis feel prices adjust slowly.


	
	B.
	All of these choices are correct.


	
	C.
	Technicians believe that new information is quickly impounded into prices.


	
	D.
	Both technicians and followers of the efficient market hypothesis feel prices adjust quickly. 

	
	
	


B

Technicians believe that the reaction is slow. Followers of the efficient market hypothesis (i.e., fundamentalists) believe that the reaction is quick.
	
	Question ID: 17094

A time series calculated as the ratio of the average yield of 10 top-grade corporate bonds to the average yield on Dow Jones 40 bond is known as:


	
	A.
	breadth index.


	
	B.
	confidence index.


	
	C.
	Lehman Brothers "GAP" Index.


	
	D.
	Salomon's High yield index. 

	
	
	


B

	
	Question ID: 17095

Which one of the following would be a bullish signal to a technical analyst using contrary opinion rules?


	
	A.
	A large proportion of speculators expect the price of a stock index futures to rise.


	
	B.
	Mutual funds have a relatively small cash position.


	
	C.
	The ratio of over the counter volume to New York Stock Exchange volume is relatively high.


	
	D.
	The ratio of odd-lot short sales to total odd-lot sales is relatively high. 

	
	
	


D

	
	Question ID: 17100

A support level is the price range at which a technical analyst would expect the:


	
	A.
	demand for a stock to increase substantially.


	
	B.
	supply of a stock to increase substantially.


	
	C.
	supply of a stock to decrease substantially.


	
	D.
	demand for a stock to decrease substantially. 

	
	
	


A

	
	Question ID: 17065

Which of the following is NOT a basic assumption of technical analysis?


	
	A.
	Market prices are set by supply and demand forces.


	
	B.
	Liquidity is provided by securities dealers.


	
	C.
	Supply and demand is driven by both rational and irrational behavior.


	
	D.
	New information is gradually integrated into security prices. 

	
	
	


B

	
	Question ID: 17093

What would signal a technical analyst to expect a sharp increase in demand for a stock?


	
	A.
	Movement into the analyst's resistance level range.


	
	B.
	Price movement into the analyst's support level range.


	
	C.
	When the specialists short sale ratio is above 50 percent.


	
	D.
	A sell-side analyst beginning coverage with a "buy" recommendation. 

	
	
	


B

	
	Question ID: 17081

Long-term success using one technical analysis tool may be challenging since:


	
	A.
	corporate fundamentals can change over time.


	
	B.
	technicians can not always be the first to obtain market information.


	
	C.
	the values that signal action are constantly changing.


	
	D.
	it does not tell us why investors are buying. 

	
	
	


C

	
	Question ID: 17068

Two basic assumptions of technical analysis are that security prices adjust:


	
	A.
	gradually to new information,and liquidity is provided by securities dealers.


	
	B.
	rapidly to new information, and liquidity is provided by security dealers.


	
	C.
	gradually to new information, and market prices are determined by the interaction of supply and demand.


	
	D.
	rapidly to new information, and market prices are determined by the interaction of supply and demand. 

	
	
	


C

	
	Question ID: 17096

Which one of the following would be a bearish signal to a technical analyst?


	
	A.
	The ratio of short sales by specialists to total short sales becomes abnormally low.


	
	B.
	The market shows poor performance when compared to individual stocks.


	
	C.
	The differential between high-quality and low-quality bonds increases.


	
	D.
	The debit balances in brokerage accounts increase. 

	
	
	


C

2.: Discounted Cash Flow Applications
	
	Question ID: 19407
This year, Dominion Power Company paid a $5.00 dividend. Dominion’s earnings and dividends are expected to grow at a constant rate of 6 percent in the future. If similar power companies have required rates of return of 11 percent, what is the estimated value of Dominion stock?


	
	A.
	$83.33.


	
	B.
	$53.00.


	
	C.
	$106.00.


	
	D.
	$100.00.

	
	
	


C

D0 = $5.00; D1 = $5.00(1.06) = $5.30
Price = D1 / (k-g)
Price = $5.30/(0.11-0.06) = $106.00
	
	Question ID: 19406
Next year, Streng, Inc., is expected to pay a $2.00 dividend. In the future, the dividend is expected to increase at a constant rate of 5 percent. If the required rate of return is 12 percent, what is the intrinsic value of the stock?


	
	A.
	$28.57.


	
	B.
	$40.00.


	
	C.
	$16.67.


	
	D.
	$32.42.

	
	
	


A

Price = D1 / (k-g)
Price = $2.00/(0.12-0.05) = $28.57
	
	Question ID: 19409
The constant growth dividend discount model would be most appropriate in valuing a:


	
	A.
	a company that is expected to generate a profit in two years.


	
	B.
	a company that retains 100% of its earnings to invest back into the company.


	
	C.
	rapidly growing company.


	
	D.
	moderate growth, mature company.

	
	
	


D

The constant growth dividend discount model assumes that a company pays dividends, and that those dividends will increase at a consistent rate in the future. A company with these characteristics will likely be a mature company that pays out a portion of its earnings as dividends and is growing at a moderate, consistent rate.
A rapidly growing company will likely have a growth rate temporarily greater than the required return making the constant growth DDM inappropriate. A company that is not currently profitable as well as a company that retains 100% of its earnings will likely not pay dividends, again making the DDM inappropriate.
	
	Question ID: 19408
Which of the following assumptions regarding the constant growth dividend discount model is NOT a requirement?


	
	A.
	The stock must grow faster than the industry average.


	
	B.
	Dividends grow at a constant rate.


	
	C.
	The dividend growth rate continues indefinitely.


	
	D.
	The growth rate must be less than the required rate of return.

	
	
	


A

The constant growth dividend discount model (DDM) assumes that dividends grow at a constant rate and that growth rate continues indefinitely. The dividend growth rate must be less than the required rate of return, or the math for the constant growth DDM will not work. The absolute growth rate for the company being valued by the constant growth DDM does not matter, only that the growth rate is constant.
	
	Question ID: 19410
A company experiencing supernormal growth:


	
	A.
	typically has a growth rate less than the required rate of return.


	
	B.
	has a period of unusually high growth for a finite period of time.


	
	C.
	is growing at a rate equal to the industry average.


	
	D.
	is growing at a constant rate indefinitely.

	
	
	


B

Supernormal growth is characterized by a period of unusually high growth that lasts for a limited amount of time, after which the growth rate will decline to a period of steady, long-term growth. Supernormal growth is typically greater than the required rate of return.
	
	Question ID: 19411
Connolly Construction Company paid a $1.00 dividend this year. Over the next 3 years, dividends and earnings are expected to grow at a rate of 18 percent. After three years, Connolly Construction is expected to grow at a constant rate of 7 percent. If investors require a return of 12 percent on similar companies, what is the estimated value of the stock?


	
	A.
	$23.60.


	
	B.
	$28.31.


	
	C.
	$34.62.


	
	D.
	$35.10.

	
	
	


B

D0 = $1.00
D1 = $1.18
D2 = $1.39
D3 = $1.64
P3 = ($1.64 x 1.07)/(0.12-0.07) = $35.10 
Value = (1.18/1.12) + (1.39/1.122) + (1.64/1.123) + (35.10/1.123) 
= (1.18/1.12) + (1.39/1.2544) + (1.64/1.40493) + (35.10/1.40493) 
= 1.05357 + 1.10810 + 1.16732 + 24.98345 
= $28.31
	
	Question ID: 19412
Matt Faltys, CFA, is estimating the value of Super Semiconductor, Inc., a computer chip maker with 10 million shares outstanding. Faltys estimates that the required rate of return for the company is 15 percent, and that, based on company and industry prospects, Super Semiconductor will sell at a multiple of 30 times predicted free cash flow to equity in four years. Based on fundamental factors, Faltys predicts the following free cash flows for each of the next four years:
Year 1: $10,000,000
Year 2: $15,000,000
Year 3: $20,000,000
Year 4: $26,000,000
What is the current estimated share price for Super Semiconductor stock?


	
	A.
	$54.13.


	
	B.
	$49.40.


	
	C.
	$78.00.


	
	D.
	$61.74.

	
	
	


B

Company value in 4 years = 26 million x 30 = 780 million
(10/1.15) + (15/1.152) + (20/1.153) + (26/1.154) + (780/1.154) = $494,021,000
$494,021,000 / 10 million shares = $49.40 per share.
	
	Question ID: 19413
Aaron McGreevy, CFA, is estimating the value of Jones Machinery, a company with 12 million shares outstanding. McGreevy estimates that the required rate of return for the company is 12 percent, and, that based on company and industry prospects, Jones Machinery will sell at a multiple of 20 times predicted free cash flow to equity in three years. Based on fundamental factors, McGreevy predicts the following free cash flows for each of the next three years:
Year 1: $10,000,000
Year 2: $15,000,000
Year 3: $22,000,000
What is the current estimated share price for Jones Machinery stock?


	
	A.
	$34.97.


	
	B.
	$61.74.


	
	C.
	$29.14.


	
	D.
	$41.96.

	
	
	


C

Company value in 3 years = 22 million x 20 = $440 million
(10/1.12) + (15/1.122) + (22/1.123) + (440/1.123) = $349,729,000
$349,729,000 / 12 million shares = $29.14 per share.
	
	Question ID: 19414
Which of the following statements regarding the dollar-weighted and time-weighted rates of return is FALSE?


	
	A.
	The dollar-weighted rate of return is the internal rate of return on a portfolio, taking into account all cash flows.


	
	B.
	The time-weighted rate of return reflects the compound rate of growth of one unit of currency over a stated measurement period.


	
	C.
	The time-weighted rate of return is the standard in the investment management industry.


	
	D.
	The dollar-weighted rate of return removes the effects of timing of additions and withdrawals to a portfolio.

	
	
	


D

The dollar-weighted return is actually highly sensitive to the timing and amount of withdrawals and additions to a portfolio. The time-weighted return removes the effects of timing and amount of withdrawals to a portfolio and reflects the compound rate of growth of $1 over a stated measurement period. Because the time-weighted rate of return removes the effects of timing, it is the standard in the investment management industry.
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